S1. No.	GRD No.	Selected Year	Name of Programme Co-ordnator, Department & Institution	Name of Scheme / Project Ttle	Total Amount Sanctoned	Total Amount Released so far	Amount to be released
1	24	2010-11	Dr. M. Afzal Pasha Dept. of Industrial Production & Engg. Bangalore University Central College Campus Bangalore	CESEM Synthesis, structural and mechanistic studies of some Industrially and Medicinally imporatant compounds.	60.00 (Each: Rs.20 Lakhs for 3 Years)	40.00	20.00
2	30	2010-11	Dr. Honnavar / Dr. A.V Shanbhag Dept. of Microbiology Sri Dharmastala Manjunatheshwara, Honnavar	CISEE Establishment of Research facilities in the Science Department to cater to the needs of society	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
3	33	2010-11	Dr. C. S. Karigar Dept of Biotechnology Bangalore University Bangalore	CISEE Strengthening of teaching and research infrastructure in the department of biochemistry	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
4	100	2011-12	Ashok Alur Dept. of Project planning cell UHS, Bagalkot	CESEM Establishing Research, conservation and multiplication Centre on wild orchids at Aloka forest heritage centre (AFHC), Mysore	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00

5	101	2011-12	Basaaraj Mkalshetty Dept. of Chemistry BHS Arts & TGP Sci. Coll., Balgalkot	CESEM Flood and heavy irrigation effect on soil properties of cultivated areas in Bagalkot district	60.00 (Each: Rs.20 Lakhs for 3 Years)	40.00	20.00
6	102	2011-12	Dr.Anandraj Dept of Electronics and Engg BGS Institution, Mandya	CESEM Analysis and prediction of attention deficit hyperactive disorder (ADHD)/Attention Deficit Disorder(ADD) symptoms using bio feedback and other techniques	60.00 (Each: Rs.20 Lakhs for 3 Years)	40.00	20.00
7	103	2011-12	Dr. Akila Prashanth Dept. of Biochemistry JSS Medical College, Mysore	CESEM Isolation of colorectal cancer stem cells based on bio marker expression and test the efficacy of Piper Nigram as an anticancer agent for further use in translational studies	60.00 (Each: Rs.20 Lakhs for 3 Years)	40.00	20.00
8	104	2011-12	Dr.C.R Raghunath Dept of Electronics and Comm MS Ramaiah Inst. Of Tech., Bangalore	CESEM Food grain characterisation using RF technique and security technology	60.00 (Each: Rs.20 Lakhs for 3 Years)	60.00	-

9	105	2011-12	Dr.Achala. L. Nargund Dept of Mathematics & Research Centre in Applied Mathematics MES College, Malleshwaram, Bangalore	CISEE Numerical and analytical solutions of non-linear differentials and integral equations	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
10	106	2011-12	Rajkumar / Dr. K S Umesh Dept of Physics Sri Satya sai inst. Of Higher learning, Blr	CISEE Research Based Reforms in Physics Instruction. Classsroom & Laboratory	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
11	107	2011-12	Dr Abdul Nayeem/ Dr A B Vedamurthy Dept. of Biotechnology The Oxford College of Science, Bangalore	CISEE Micro-propogation and pharmacological investigation on lastonia scholaris	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
12	108	2011-12	Dr P.H.Thejaswini Dept. of Biotechnology Maharani's Science College for Women, Mysore	CISEE Elicitation and characterisation of defence mechanism in pearl millet by in vitro C-Culturing of Pearl millet and Sclerospora Graminicola	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
13	111	2011-12	R.V Prasad Dept. of Anatomy Karnataka Veterinary Animal and Fisheries Sciences University, Blr	CISEE Flash based innovative technique as an aid in teaching veterinary anotomy	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00

14	114	2011-12	Dr. K.G Manjunath Dept. of Chemistry Ghousia coll. Of Engg., Ramanagam	CISEE Synthesis and development of conductive polymer composite and nano crystalline Metal Oxide thin film coatings for various applications	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
15	120	2012-13	C.S. Shastry Dept of Pharmacology NGSM Instittue of Pharmaceutical Sciences, Mangalore	K-FIST(L1) Establishing the facility for- Pharmacological evaluation of Bio- active molecules from the plants in Indian system of Medicine	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
16	121	2012-13	Vijay M Kumbar Dept. of Cardio Vascular & Thoracic Surgery JN Medical College, Belagavi	K-FIST(L1) Establishing the facility for- Research on the role of Chronic infections in Atherosclerosis	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
17	124	2012-13	Dr. K.S. Aprameya Dept. of Electronics & Instrumentation Engineering University BDT Coll. Of Engg., Davangere	K-FIST(L1) Establishing the facility for- Project Lab for DSP, PIC & PLC Trainers	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

18	132	2012-13	Dr. Sudarshana Reddy HR Dept. of Electrical and Electronics Engineering University BDT College of Engg., Davangere	K-FIST(L1) Establishing the facility for-High voltage test techniques Lab	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
19	137	2012-13	Dr. S. Ramachandra Shetty Dept. of Pharmaceutical Science Govt. college of Pharmacy, Bangalore	K-FIST(L1) Modernization of PG & research Lab in Pharmaceutical Science	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
20	138	2012-13	Dr. Shivanand Handigund Dept of Computer Science Bangalor Institue of Technology, Bangalore	K-FIST(L1) Design & development of Tools & Techniques for software Program Management	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
21	141	2012-13	A.M. Hunashal Dept. of Civil Engineering KLE's BV Bhoomreddy coll. Of Engg. & Tech., Hubli	K-FIST(L1) Establishing the facility for- Nanotechnology for Stuctural & Energy engineering application	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
22	153	2012-13	Maheshappa Acharya Inst. Of Tech., Blr	K-FIST(L2) Establishing the facility for - Research in selection of Axial - Torsion servo hydraulic fatigue systems and micro hardness testing.	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00

23	178	2012-13	Dr. L.V G Nargund Dept of Pharmceutical Chemistry Nargund College of Pharmacy, Blr	CESEM Centre for Excellence in study of nanoparticals for inhibition of gene expresssion in Carcionomas	60.00 (Each: Rs.20 Lakhs for 3 Years)	40.00	20.00
24	179	2012-13	Dr. K.P.Guruprasad Dept of Phamceutical Chemistry Manipal Lifescience Center, Manipal	CESEM Centre for excellence Multi disciplinary approch to understand agening process in relation to DNA repair	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
25	180	2012-13	Dr. Bhaskar Vishwanathan Dept of Center for Nanoparticles Narayana Hrudayala Hospitals, Blr	CESEM Centre for excellence in eletromagnetic cancer therapeutics by nanoparticle hyperthermia Research	60.00 (Each: Rs.20 Lakhs for 3 Years)	40.00	20.00
26	181	2012-13	Dr. M.L.Sudheer Dept of Electronics and communication Bangalore University, Blr	CESEM Centre for Excellence in E & C and power quality	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
27	182	2012-13	Dr. Dinesh Rangappa Dept of Nanotechnology VTU, Bangalore	Centre of Excellence in functinal hybrid nano structures for energy and environmental applications.	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00

28	183	2012-13	Dr.Basavaraju Bennehalli, Dept of Engineering Chemistry ALVA'S Institute of Engineering & Technology, Moodbhidir	CISEE Physicochemical and Mechanical Charaterization of Natural Areca Fiber Reinforced Polymer Composite Materials	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
29	184	2012-13	Dr.K.A.Raveesha Dept of Botany University of Mysore, Mysore	CISEE Herbal drug technology.	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
30	185	2012-13	Dr.L.A. Udachan Dept of Physics Sri Channabasaveshwara Arts , Sci. & Commerce coll., Bhalki	CISEE Establishment of thin films research laboratory	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
31	186	2012-13	Dr.H.R.Shivakumar Dept of Chemistry KVG College of Engineering	Polymer Composite, Bio Polymer Blend Materials - Ultra Sonic, Electrical Conductivity, Nano Materials Corrosion	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00

32	187	2012-13	Susanta Pahari Dept of Student Development & Research (DSDR) Indian Academy degree coll., blr	Establishing the facility for molecular biology and bioinformatics research; discovery and development of novel biopharmaceuticals from the broad diversity of snake venoms	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
33	190	2012-13	Dr.Nagaswarppa.M Dept of Chemistry East West College of Eng., Bangalore	CISEE Development of Low cost Nano - Particles for Corrosion resistance studies	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
34	191	2012-13	Udup A Ramagopal Dept of Biological science Poornaprajna Inst. Of Sci. Research,Blr	CISEE Design of modified B7-1 (CD-80) and B7-2 (CD-86) molecules to create potential reagents for Cancer and auto-immune disorders	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
35	192	2012-13	S.Jayasheelan Dept of Physics St. Philomena's Coll., Mysore	CISEE Crystallographic and molecular analysis of certain drug molecules, manufactured in pharmaceuticals industries	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00

36	193	2012-13	Dr. Anitha/ Dr. K R Venugopal Reddy Dept of Chemistry Sahyadri Science College, Shimoga	CISEE Development of new semi conducting Supramolecular materials for energy conservation and elctrochemical applications.	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
37	194	2012-13	Dr.Jagannatha .N Dept of Physics K.M. Cariappa College, Madikeri	CISEE Growth and optical, Electrical structural characterization of Cation doped single crystal	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
38	195	2012-13	Dr. Shaukanth Ara Dept of Chemistry Yuvaraja's College, Universityof Mysore,	CISEE Design Synthesis and Evaluation of Benzoxazole and triazole analogues as xanthine oxidase inhibitors	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
39	196	2012-13	Dr.S.Devaraja Dept of Bio Chemistry Tumkur University, Tumkur	CISEE Identification of novel factor Xa and thromdin inhibitors in the management of thromoboembolism	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00

40	197	2012-13	Dr.J.Shankar Dept of PG Department Biotechnology Teresian College, Mysore	CISEE Screening and characterisation of active principles of medicinal plants for their pro-apoptotic and anti-angiogenic activity on various human cancer cell lines.	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
41	219	2013-14	Dr. Shashidhara Buggi Dept of C.T. Surgery SDS, TRC & RGICD, Bangalore	CISEE Center for Excellence In-Air Pollution Related Diseases Diagnostic Center	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
42	221	2013-14	Dr. Raghavendra Sagar / Dr. Niraj Joshi Dept of Physics Mangalore Institute of Technology & Engineering, Moodbidri	CESEM Center for Excellence In- A Study on the enhancement of efficiency of solar cells by various modification processes and synthesis/ characterisation of NLO materials	60.00 (Each: Rs.20 Lakhs for 3 Years)	40.00	20.00

43	222	2013-14	Dr. Chithrakara Hegde Dept of Chemistry Allaince University - College of Eng., Bangalore*(SDP)	Cesem Center for Excellence In- Design, Sythesis of color based chemosensors & Nanofilteration membranes for detection & removal of metal ions from contaminated water	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
44	223	2013-14	Mr. Prashil Manohara Dept of Electronics & Communication Engg. M.S. Engineering College, Bangalore	CESEM Center for Excellence In- Develop a sensor & Novel signal Processing Technique for high sensitivity gain for weak acoustic signal in underwater communication based application	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
45	224	2013-14	Prof. Satheesh Chandra Reddy S Dept of Information Science and Engineering SJC Institute of Technology, Chickballapur	CISEE Electronic Portfolio	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
46	225	2013-14	Dr. Nanda B.L Dept of Biochemistry Maharani's Science College for Women, Mysore	To set up the protein Chemistry Laboratory	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00

47	226	2013-14	Mr. R. Yogananda Dept of Pharmaceutics SJM College of Pharmacy, Chitradurga	Factorial and Formulation studies on enhancement of solubility, dissolution rate and bioavailability of BCS class II Anti – Retroviral drugs employing Cyclodextrins and Solutol HS15	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
48	227	2013-14	Dr. Ganesh D.B. Dept of Mechanical Engineering GM Institute of Technology, Davangere	CISEE Development of Diesel Engine Testing Facilities for locally available Biodiesel	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
49	228	2013-14	Dr. N. Kapilan Dept of Mechanical Engineering Nagarjuna College of Engineering & Technology, Bangalore	CISEE Development and Evaluation of Solar and Geo-thermal based Cooling and Refrigeration Systems	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
50	229	2013-14	Dr. K.R. Venugopala Reddy Dept of Chemistry Vijayanagar Sri Krishnadevaraya University, Bellary	CISEE Phthalocyanines as Light Harvesting Component in solar cells	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00

51	230	2013-14	Dr. Suresh D.S. Dept of Electronics & Communication Engineering Channabasveshwara Institute of Technology, Gubbi – 572 216	CISEE DSP Contextual Learning Lab	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
52	231	2013-14	Dr. B.T. Prabhakar Dept of Studies and Research in Biotechnology Sahyadri Science College, Shimoga - 577203	CISEE Defining the role of micronutrient Zn+ in regulation of NF- Kb signaling mediated inflammatory response: Therapeutic application for Rheumatoid Arthritis	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
53	232	2013-14	Dr. K. Natarajan Dept of Chemistry R.V. College of Engineering, Bangalore	CISEE Development of Room temperature storage Prepreg Resin for composites for Aircraft applications	30.00 (Each: Rs.10 Lakhs for 3 Years)	20.00	10.00
54	233	2013-14	Dr. Sangshetty Kalyane Dept of Applied Science & Humanities Bheemanna Khandre Institute of Technology, Bhalki	CISEE Center of Excellence in Polymer Science & Engineering	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00

55	234	2013-14	Manjunath Yadav S Dept of Mechanical Engineering Government Engineering College, Huvinahadagali	Fatigue and Fracture behavior of Natural fiber reinforced Hybrid sandwich structures	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
56	235	2013-14	Dr. Rakesh S.G. Dept of Mechanical Engineering Amrita School of Engineering, Bengaluru	CISEE Technology based student centric learning Innovation centre	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
57	236	2013-14	Dr. Arun C Inamadar Dept of Dermatology, Venereology and Leprosy BLDEU's Shri B.M. Patil Medical College, Bijapur	K-FIST(L2) Establishment of Dermatology Center of Excellence in North Karnataka	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
58	237	2013-14	Dr. G.M. Patil Dept of Electronics & Communication Engineering Basavakalyan Engineering College, Basavakalyan	K-FIST(L2) Establishment of ICT enabled high tech infrastructural facility for digital signal processing	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
59	239	2013-14	Dr. H.B. Niranjan Dept of Mechanical Engineering Sambhram Institute of Technology, Bangalore	K-FIST(L2) Enhancement of wear and corrosion resistance of materials by Kinetic spraying	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00

60	240	2013-14	Dr. K.S. Rane Dept of Chemistry Rani Channamma University, Belgaum	K-FIST(L2) Infrastructure development for investigating the abatement of industrial exhaust gas pollutants and the degradation of organic moiety & mineral salts of effluents	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
61	242	2013-14	Dr. N.R. Banapurmath Dept of Center for Material Sciences B.V. Bhoomaraddi College of Engineering and Technology, Hubli	K-FIST(L2) Synthesis and characterization of group III - nitride nanostructure based FET for bio chemical sensing applications	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
62	243	2013-14	Dr. U.S. Raikar Dept of Studies in Physics Karnatak University, Dharwad	K-FIST(L2) Green Nanotechnology based highly sensitive fiber grating chemical sensors	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
63	244	2013-14	Dr. V. Venkatesh Dept of Electrical and Electronics Engineering Channabasaveshwara Institute of Technology, Gubbi	K-FIST(L2) Modernization of Power system simulation Lab and relay and high voltage laboratory	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00

64	245	2013-14	B.B. Budihal Dept of Physics K.R.C.E. Society's G.G.D. Arts BMP Comm., SVS Science College, Bailhongal	K-FIST(L2) Measurement of mass attenuation co-efficients of X – Ray photon around K-edge the target and the effect of chemical and solid state environment	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
65	248	2013-14	D.K. Sreekantha Dept of Computer Science Basaveshwar Science College, Bagalkot	K-FIST(L1) Soft Computing Applications in Business and Industry sectors	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
66	249	2013-14	Dr. Shivaprasad Dept of Pharmacology BLDE Pharmacy College,Bijapur	K-FIST(L1) An evaluation of efficacy of commonly used first line drugs in terms of Intra – Ocular Pressure (IOP) and ocular perfusion pressure (OPP) and field of Vision in patients of primary open angle glaucoma (POAG) of North Karnataka	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
67	250	2013-14	i) Niveditha Manohar ii) Computer Science & Information Technology iii) Alliance University, Bangalore	K-FIST(L1) Establishing a MapReduce Platform for processing Kernel Functions and pattern analysis algorithms	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

68	252	2013-14	i) S.P. Guggarigoudar ii) Otorhinolaryngology iii) BLDEU Medical College, Bijapur	K-FIST(L1) Creation of voice database and development of tools for objective assessment of voice in health and diseases	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
69	253	2013-14	Dr. Lathdevi HT Dept of ENT BLDE Shri B.M. Patil Medical College, Hospital and Research Centre, Bijapur	K-FIST(L1) Role of computer aided Endoscopic sinus surgery in management of extensive sinonasal polyposis	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
70	256	2013-14	Mr Sarfaraz MD Dept of Pharmaceutics NET Pharmacy College, Raichur	K-FIST(L1) Development and optimization of chrotherapeutic formulcations for treatment of hypertension	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
71	260	2013-14	Dr. Janeneshwari Dept of Computer Science Government Engineering College, Huvinahadagali	K-FIST(L1) Novel set up for advanced processor and digital system design environment	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

72	264	2013-14	Dr. Chandramouli Dept of Computer Science and Engineering (CSE R & D) East Point College of Engineering and Technology, Bangalore	K-FIST(L1) Enhancing Software Security	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
73	265	2013-14	Dr. Shivapriya M Dept of Biotechnology and Crop Improvement University of Horticultural Sciences, Bengaluru	K-FIST(L1) Laboratory for floricultural crop improvement through in vitro mutations	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
74	266	2013-14	i) Dr. Kundabala ii) Public Health Dentistry iii) Manipal College of Dental Sciences, Mangalore	K-FIST(L1) Effectiveness of dental health education program using digital aids in dental clinic	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
75	269	2013-14	Dr. Nataraj K.R Dept of Electronic and Communication Engineering SJB Institute of Technology, Bangalore	K-FIST(L1) Establishing the facility for: VLSI and Embedded systems lab (Centre for simulation studies)	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
76	270	2013-14	Prof. Debashis Sengupta Dept of Computer Science Alliance College of Engineering and Design, Alliance University, Anekal, Bangalore	K-FIST(L1) Stimulzting Knowledge for Visually impaired childrens through Radio – Frequency identification (RFID)	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

77	271	2013-14	Dr. Jayaprakash Shetty Dept of Pathology KS Hegde Medical Academy, Nitte University, Mangalore	K-FIST(L1) Evaluation of prognostic markers for Triple – negative Breast Cancer	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
78	272	2013-14	G.C. Sathish Dept of Computer Science Reva Institute of Technology and Management, Bangalore	K-FIST(L1) Establishing of Cloud Computing Laboratory for image processing and Multimedia Data security	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
79	273	2013-14	Kiran Divakaran Dept of Mechanical Engineering Dr. T. Thimmaiah Insitute of Technology, KGF	K-FIST(L1) Green Energy Engineering with special focus on Electric and Hybrid Automobiles	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
80	274	2013-14	Dr. Vijayakumar Durg Dept of Chemistry Bheemanna Khandre Institue of Technology, Bhalki	K-FIST(L1) Synthesis, Characterization, Electrical and Biological studies of metal complexes of some Triazole Schiff bases	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
81	275	2013-14	Dr. Shalini R Urs Dept of Information Sciences and Management International School of Information Management, University of Mysore, Mysore	K-FIST(L1) Cloud Computing Research and Training Facility	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

82	306	2014-15	Dr. Vinod Kumar Dept of Microbiology SS. Institute of Medical Davengere	CESEM Epidemiology, clinical and molecular study of Dengue fever at central Karnataka	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
83	307	2014-15	Dr. Ganapati Dept of Material Science Poornaprajna institute of Scientific Research, Bangalore	CESEM Chemical fixation of CO ₂ by converting into value added chemicals using metalmodified ordered nanoporous silicate catalysts	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
84	308	2014-15	Dr. Pragna Rao Dept of Biochemistry Kasturba Medical College, Manipa	CESEM To Establish a New born Screening Lab and to Initiate the Mass Screening programme to reduce the mortality and morbidity of new born children	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00

85	309	2014-15	Dr. Mamatha K.V. Dept of Prasthitantra and Streeroga S.D.M. College of Ayurveda & Hospital, Kuthpady, Udupi Dist.	Rural screening centre for Pelvic inflammatory disease and its effective management with Ayurvedic Formulations	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
86	310	2014-15	Dr. Jharna Majumdar Dept of Computer Science and Engineering Nitte Meenakshi Institute of Technology, Bangalore	CESEM Establishment of centre for the Robotics research to promote multidisciplinary research in Engineering Education	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
87	311	2014-15	Dr. Rita Christopher Dept of Neuro Chemistry National Institute of Mental Health and Neuro Sciences, Bangalore	CESEM Identification of ciruclating miRNA signature for diagnosis of cerebral small vessel disease	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00

88	312	2014-15	Dr. Arun Mohan Isloor Dept of Chemistry National Institute of Technology Surathkal Manglaore	CESEM Towards development of Low cost, Fouling resistant nanoporous Hollow fiber membranes for the Hemodialysis Application	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
89	313	2014-15	Dr. Praveen B.M. Dept of Chemistry Srinivas School of Engineering, Mangalore	CISEE Development of Nickel- Nano Particles composites by Electrodeposition Method for Industrial Applications	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
90	314	2014-15	Dr. Ashok kumar koti Dept of Mathematics Bheemanna Khandre Institute of Technology, Bhalki	CISEE Boundary Layers Flows for Visco- Elastic Fluids over a stretching sheet Embedded in porous medium	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
91	315	2014-15	Dr. Sneha Rani Dept of Biochemistry P.G. Centre, Mangalore University, Chikka Aluvara, Somwarpet Taluk	CISEE Setting up Animal Cell Culture Facility	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00

92	316	2014-15	Pradipta Banerjee Dept of Biotechnology Dayananda Sagar College of Arts, Science and Commerce, Bangalore	CISEE Isolation of Bioactive therapeutic cryptic peptides involved in blood pressure regulation from marin Industry waste	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
93	317	2014-15	M.S. Saranyaraj D Dept of Electronics and Communication Engineering Sahyadri College of Engineering and Management, Mangalore	CISEE Underground water detection, replenishment & mapping using arial infra- Red application to enhance the drinking water resources	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
94	318	2014-15	Sridhar K.N. Rao Dept of Computer Science and Engineering Channabasaveshwara Institute of Technology, Gubbi	CISEE Centre for creativity in Engineering	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
95	319	2014-15	Palakshamurthy BS Dept of Physics University College of Science, Tumkur	CISEE Synthesis and Characterization of a few Display & Photo voltaic materials	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00

96	320	2014-15	Dr. P. Sandhya Dept of Computer Application Visvesvaraya Technological University, Gulbarga	Design and Development of a Clinical decision support system for medical practitioners for accurate diagnosis of chronic obstructive pulmonary disease and associated cognitive dysfunctions	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
97	321	2014-15	Mohammed Younug Ali Dept of Pharmacetics KCT College of pharmacy Gulbarga	CISEE Innovative teaching techniques by utilizing Hi- Tech teaching aids.	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
98	322	2014-15	Dr. Manjunath N.S. Dept of Biotechnology and Resource Centre Bapuji Institute of Engineering and Technology, Davangere	CISEE Phages as natural nano- medicines to target superbugs	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
99	323	2014-15	Dr. Jagadish Kori Dept of Civil Engineering Government Engineering College, Haveri	CISEE Investigations on Durability aspects of special concretes	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00

100	324	2014-15	Prathima Guruprasad Dept of Computer Science and engineering Vivekananda Institute of Technology Bangalore	CISEE Word image identification for handwritten scripts using data visualization	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
101	325	2014-15	Dr. Pruthviraj R. D Dept of Chemistry Rajarajeshwari College of Engineering Bangalore	CISEE Synthesis and Characterization of organic inhibitors	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
102	326	2014-15	Dr. Mahesh Dept of Chemistry Jss Academy of Techanical Education Bangalore	CISEE Establishment of R & D facilities for synthesis characterization and study on applications of protien based polymers	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
103	327	2014-15	Dr. Sudisha Jogaiah Dept of Biotechnology & Microbiology Karnataka University, Dharwad	CISEE Plant health care and diagnestic centre for northern Karnataka	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
104	328	2014-15	Dr. Santhoshkumar Kori Dept of Pharmaceutics KCT College of Pharmacy, Gulbarga	CISEE Electronic transport properties of (Fe/X/Ni)N(X=Al/Cu/Ag/Au) N=5, 10, 15 multilayered thin films	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00

105	329	2014-15	Dr. Prathibha Dept of Biotechnology KLE's Nijalingappa College, Bangalore	CISEE Circulating tumor cells and circulating free nucleic acid as prognostic and predictive biomarkers in metastatic colorectral cancer	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
106	330	2014-15	Dr. D.V. Sheelwant Dept of Civil Engineering Basavakalyan Engineering CollegeBasavakalyan, Dist. Bidar	K-FIST(L2) Establishing the facility for structural engineering studies and its Applications	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
107	331	2014-15	Dr. N.S. Kumar Dept of Civil Engineering Ghousia College of Engineering, Ramanagaram	K-FIST(L2) Establishing Civil Engineering laboratory for testing nano materials – to develop Crack free concrete with nanofiber reinforcement	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
108	332	2014-15	Dr. Radhika Manoj Bavle Dept of Oral and Maxillofacial Pathology Krishnadevaraya College of Dental Science, Bangalore	K-FIST(L2) Establishing the facility to decipher cytogenetic and molecular aspects associated with oral cancer with prognostic significance	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00

109	333	2014-15	Sairam Geethanath Dept of Medical Electronics Dayananda Sagar College of Engineering, Bangalore	K-FIST(L2) Establishing Laboratory for Magnetic resonance imaging and signal processing (MRISP)	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
110	334	2014-15	Dr. V. Ramesh Dept of Civil Engineering East Point College of Engineering and Technology, Bangalore	K-FIST(L2) For establishing Digital image correlation laboratory	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
111	335	2014-15	Dr. N. Chikkanna Dept of Aerospace propulsion technology VTU, Center for PG Studies, Bangalore Region Muddenahalli Campus, Chikkaballapur	K-FIST(L2) Establishing the facility for Air intake duct design using analysis tools	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
112	336	2014-15	Prof. S.V. Shashikala Dept of Computer Science and Engineering BGS Institute of Technology, Nagamangala Taluk, Mandya Dist.	K-FIST(L2) Establishment of ICT Infrastructure through Digital Library	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00

113	338	2014-15	Dr. Nirmala CR Dept of Computer Science and Engineering Bapuji Institute of Engineering and Technology, Davangere	Novel approach to formulate zone parameters to improve the crop yield using remote sensing the data for precision agriculture	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
114	339	2014-15	Dr. Nagesh HR Dept of Computer Science and Engineering Mangalore Institute of Technology and Engineering, Moodbidri	K-FIST(L2) Technology aided agricultural optimization	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
115	340	2014-15	i) Manoj Kumar ii) Civil Engg. iii) Guru Nanak Dev Engineering College, Bidar	K-FIST(L2) The compressive strength and flexural behaviour GEO polymer concrete	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
116	341	2014-15	Dr. B. N. Kirasur Dept of Chemistry B.V.V.S. Basaveshwar Science College, Bagalkot	K-FIST(L2) Establishing Research Laboratory for the synthesis and characterisation of transition Metal complexes with hydrazone ligands and to study its biological activity	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00

117	342	2014-15	Dr. M. Anuradha Dept of Biotechnology Padmashree Institute of Management and Sciences, Bangalore	K-FIST(L2) Establishing advanced research and training facility for Phytoceuticals	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
118	343	2014-15	Dr. Thippeswamy Dept of Microbilogy Jnana Sahyadri Campus, Kuvempu University, Shimoga	K-FIST(L2) Integrated disease management: An alternative approach for effective control of Kyasanur Forest Disease by a novel and biological immunomodulator and the acaricide	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
119	344	2014-15	Dr. B. Shivakumar Dept of Pharmaceutical Chemistry B.L.D.E. Association's College of Pharmacy, Bijapur	K-FIST(L2) Establishing the Facility for Design, Synthesis and biological evaluation of new chalones, pyrimidines, phrazolines and pyrazoles	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
120	345	2014-15	Dr. Parvathi C Sidaraddi Dept of Electronics and Instrumentation Gulbarga University Post Graduate Centre, Raichur	K-FIST(L1) Establishment of State of the Art Laboratory for PG Program and Research in Instrumentation Technology	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

121	346	2014-15	Dr. Manjunath Ajanal Dept of Dravyaguna Rajiv Gandhi Education Society's Ayurvedic Medical College, Hospital and P.G. Research Centre, Ron Taluk, Gadag	K-FIST(L1) Upgradation of Ayurvedic Research Analytical Lab	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
122	347	2014-15	Dr. Ullas Gurudas Dept of Physics Alliance College of Engineering and Design, Alliance University, Anekal Taluk, Bangalore	K-FIST(L1) Quantum Cascade Laser Based Breath Analyzer for Medical Diagnosis and Environmental Monitoring	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
123	348	2014-15	Prof. Nandkishore D Rao Dept of Automobile Engineering Guru Nanak Dev Engineering College, Bidar	K-FIST(L1) Experimental Investigations on preparation of Bio Diesel and its use for compression Ignition Engine	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
124	349	2014-15	Dr. Mallikarjunayya C Math Dept of Thermal Power Engineering Visvesvaraya Technological University, Post Graduate Center, Mysore	K-FIST(L1) Development of Research facilities on Biodiesel fuel Testing and Internal Combustion Engines Lab	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

125	350	2014-15	N. Nasir Ahamed Dept of Physics Government First Grade College, T. Narasipura	K-FIST(L1) To provide infrastructure for physics laboratory	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
126	351	2014-15	Dr. Raju K Dept of Mechanical Engineering St. Joseph Engineering College, Mangalore	Effect of alloying elements and process Variables on the properties of Al-Si alloys produced by Spray forming	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
127	352	2014-15	Dr. S.N. Manjula Dept of Pharmacology JSS College of Pharmacy, Mysore	Chemoprotective Effects of Noni (Morinda Citrifolia) juice against Anticancer drugs induced toxicity - A preclinical and Clinical Study	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
128	353	2014-15	Sarvesh Vishwakarma Dept of Computer Science and Engineering Sahyadri College of Engineering and Management, Mangalore	K-FIST(L1) Creating the facility for advancing research in area of computer vision and allied areas - (Multi Stage detection System for violent activities in Crowd through Visual, gesture and Cognitive modeling)	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

129	354	2014-15	Dr. K.M. Kenchi Reddy Dept of Mechanical Engineering Sri Krishna Institute of Technology, Chikkabanavara, Bangalore	K-FIST(L1) Establishing the facility for Modernizing the material testing Laboratory	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
130	355	2014-15	Anupama Rangan Dept of Pharmaceutical Chemistry Vivekananda College of Pharmacy, Bangalore	K-FIST(L1) Preparation of Lignin - rich Nanoparticles from Naturals Fibers and their Application in Drug Delivery Systems	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
131	356	2014-15	Dr. Devaraj S Dept of Mechanical Engineering Sri Jagadguru Chandrashekaranatha Swamiji Institute of Technology, Chickballapur	K-FIST(L1) Spray Atomization and deposition Process	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
132	357	2014-15	Mr. Hemanth Kumar G Dept of Electronics and Communication Engg. East point College of Engineering and Technology, Bangalore	K-FIST(L1) See – Through Wall Imaging System for search and rescue operations	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

133	358	2014-15	MR. R. Sekar Dept of Electronics and Communication Engg. Channabasaveshwara Institute of Technology, Gubbi Taluk, Tumkur Dist	K-FIST(L1) Modernization of Embedded System Design & Industrial Automation lab	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
134	359	2014-15	Sundari Tribhuvanam Dept of Electronics and Communication Engg. Atria Institute of Technology, Bangalore	K-FIST(L1) Establishment of Advanced signal processing Laboratory – Air borne character recognition system	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
135	360	2014-15	Dr. Prashantha S.C. Dept of Science & Humanities (Physics) East West Institute of Technology, Bengaluru	K-FIST(L1) Development of novel Nanophosphor materials for Dosimetry and display Applications	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
136	361	2014-15	Dr. Savithri Bhat Dept of Biotechnology BMS College of Engineering, Bangalore	K-FIST(L1) Protein Profiling of mammalian Cells Treated with withanolides to relieve Oxidative Stress	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

137	362	2014-15	N.B. Sridharamurthy Dept of Pharmacology Dayananda Sagar College of Pharmacy, Bangalore	K-FIST(L1) Bioactivity Guided Isolation & Characterization of Potent Biomolecules for Anti- Asthmatic Activity in Calotropis Gigantea	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
138	363	2014-15	Dr. Revanasiddappa M Dept of Chemistry People's Education Society Institute of Technology, Bangalore	K-FIST(L1) Electromagnetic Interference Shielding Effectiveness (EMI- SE) Measurement Facility	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
139	364	2014-15	Shravankumar B Kerur Dept of Mechanical Engineering Basaveshwara Engineering College, Bagalkot	K-FIST(L1) Smart Composites Structures Research Center (SCSRC)	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
140	365	2014-15	Dr. H.N. Suma Medical Electronics BMS College of Engineering Bangalore	K-FIST(L1) Infrastructure Enhancement of Biomedical Wireless Data Acquisition Facilities in Biomedical Signal Processing Lab	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

141	366	2014-15	Prof. Raghavendra Joshi Dept of Mechanical Engineering Ballari Institute of Technology and Management, Bellary	K-FIST(L1) Studies on magnetostrictive actuator for disc brake application	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
142	367	2014-15	Prof. A.M. Shivaram Dept of Master of Computer Applications Bangalore Institute of Technology, Bangalore	K-FIST(L1) Reverse Engineering the Existing Programming System to be Amenable for Multi - Core Architecture Using UML & Program Slicing Techniques	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
143	368	2014-15	K.G. Srinivas Dept of Mechanical Engineering Sha – Shib College of Engineering Gudibande taluk, Chickballapur Dist	K-FIST(L1) Investigation of Properties of Carbon Black Reinforced Aluminium metal Matrix Composites	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
144	369	2014-15	Dr. H.S. Sheshadri Dept of Electronics and Communication Engineering PES College of Engineering, Mandya	K-FIST(L1) Establishment of Medical Image Analysis Laboratory	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

145	370	2014-15	Sampath S Dept of Information Science and Engineering Adichunchanagiri Institute of Technology, Chikmagalur	K-FIST(L1) Development and Analysis of MPI and PVM for High Speed Computation Using Cluster Based Architecture	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
146	371	2014-15	Dr. Suresh G Patil Dept of Civil Engineering P.D.A. College of Engineering Gulbarga	K-FIST(L1) Strength and Durability Study of Geopolymer Concrete	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
147	372	2014-15	Dr. T.M. Chandrashekharaiah Dept of Mechanical Engineering Kalpataru Institute of Technology, Tiptur	K-FIST(L1) To provide "Infrastructure Research work on Tribological Studies"	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
148	373	2014-15	Dr. Sanjaykumar Gowre Dept of Electronics and Communication Engineering Bheemanna Khandre Institute of Technology, Bhalki, Bidar Dist.	K-FIST(L1) Design of Photonics Communication System	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

149	374	2014-15	Dr. Arkasubhra Ghosh Dept of GROW Research Laboratory Narayana Nethralaya Foundation Bangalore	K-FIST(L1) Advanced Regenerative medicine for blinding disorders: Gene and stem Cell therapy for retinal degeneration	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
150	375	2014-15	Dr. S. Z. Mohammed Shamshuddin Dept of Chemistry HMS Institute of Technology, Tumkur	K-FIST(L1) Vapour Phase Synthesis of Fine Chemicals using Cordiertie Honeycomb Coated with ziroconia Based Solid acids as Catalytic Materials	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
151	376	2014-15	Dr. Subhash S. Karki Dept of Parmaceutical Chemistry KLE University's College of Pharmacy, Bangalore	K-FIST(L1) Establishing the Facility for Design, Synthesis and Characterization of Silymarin Derivatives as Antioxidant & Anticancer Agents	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
152	377	2014-15	Dr. Mahesha M. G Dept of Physics Manipal Institute of Technology, Manipal University, Manipal	K-FIST(L1) Investigation of Potential Alternatives for Window layer to Improve the efficiency of CdTe based solar Cells	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

153	378	2014-15	Dr. S. B. Madagi Dept of Bioinformatics and Biotechnology Karnataka State Women's University, Bijapur	K-FIST(L1) Identification and Validation of Ethnic plants Bioactive targets Involved in Immune Modulation: by Insilico and Invitro Studies	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
154	379	2014-15	Deepa M. A Dept of Life Science Kristu Jayanti Colleg, Bangalore	K-FIST(L1) Study on development and evaluation of herbal formulation for treating Melanoma Hyperpigmentation using Cell Lines	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
155	380	2014-15	Dr. S. Shanthala Dept of Telecommunication Engg. Bangalore Institute of Technology, Bangalore	K-FIST(L1) Development of Low Power VLSI Circuits	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
156	381	2014-15	Dr. Prasanna Kumari Dept of Crtogenetics Unit Pathology Kidwai Memorial Institute of Oncology, Bangalore	K-FIST(L1) Prognostic evaluation of RUNX1 gene in childhood precursor B - Cell Acute Lymphoblastic Leukemia with intrachromosomal amplification of chromosome 21 (iAMP21)	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

157	382	2014-15	Dr. G. H . Kulkarni Dept of Electrical and Eletronics Engg. Jain College of Engineering, Belgaum	K-FIST(L1) JCE - Power System Simulation Laboratory	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
158	383	2014-15	Dr. Kalyani R. Dept of Pathology MVJ Medical College and Research Hospital, Hoskote Taluk, Bangalore	K-FIST(L1) Significance of Detection of HPV by PCR method in routine cervical Cancer Screening in rural area and Correlation with Cervical intraepithelial lesions.	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
159	384	2014-15	Mr. Mrityunjaya Swamy Dept of Mechanical Engg. Vemana Institute of Technology, Bangalore	K-FIST(L1) Modernization of Alternative Fuel Lab by the Addition Exhaust Emission Equipment for the Diesel Engine Test RIG	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
160	385	2014-15	Dr. Siddappa I. Dept of Mechanical Engg. KLS's Gogte Institute of Technology, Belgaum	K-FIST(L1) Efficient roof top wind mills with passive magnetic levitation	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

161	386	2014-15	Dr. A. A. Kittur Dept of Chemistry Shri Dharmasthala Manjunatheshwara College of Engineering and Technology, Dharwad	K-FIST(L1) Electrochemical Energy Storage with Modified Graphene Oxide - Conducting Polymer Hybrids	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
162	387	2014-15	Dr. M. I. Sakri Dept of Mechanical Engg. B.L.D.E. Association's vachana Pitmaha Dr. P.G. Halakatti College of Engineering and Technology, Bijapur	K-FIST(L1) Noise and Vibration Engineering Laboratory	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
163	388	2014-15	Dr. Kusum Pal Dept of Biotechnology The Oxford College of Engineering, Bangalore	K-FIST(L1) Establishment of Center for Computational Medicinal - Chemistry in drug Discovery	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
164	389	2014-15	Dr. Balachandra Hegde Dept of Physics Rani Channamma University, Belagavi	K-FIST(L1) Monodisperse Manganite nano particle sysnthesis and characterization by contactless conductivity and susceptibility measurements	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

165	455	2015-16	Dr. Anuprita Ghosh Dept of Grow Research Laboratory Narayana Nethralaya Foundation, Hosur Road, Bangalore	CESEM Developing Curcumin and Vitamin D based natural product immunomodulators for treating blinding corneal disorders and regeneration	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
166	456	2015-16	Dr. Arun KV Dept of Electronics and Communication Allicance College of Engineering Bangalore	CESEM Center of Excellence in Materials Characterization	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
167	457	2015-16	Dr.Dr. Reeba Korah Dept of Electronics and Communication Engineering Alliance College of Engineering, Bangalore	CESEM Development of Very Low Power Electronic Device modeling and Chip Design centre	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
168	458	2015-16	Dr. S.C. Sharma Dept of Mechanical Engineering Dayananda Sagar College of Engineering, Bangalore	CESEM Development of Waste Paper and Plastic Filled Polymer based composites: Waste to Wealth Approach	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00

169	459	2015-16	Dr. Santhosh Chidangil Dept of Atomic and Molecular Physics Manipal University, Manipal	CESEM Establishing a Bio-Photonics Research facility for Development and demonstration of Screening for early detection of Cervical Cancer using Laser Spectroscopy techniques	60.00 (Each: Rs.20 Lakhs for 3 Years)	20.00	40.00
170	460	2015-16	Dr. Rajashree Shettar Dept of Computer Science and Engineering R.V. College of Engineering, Bangalore	CISEE Real Time Traffic Signal Control Based on Adaptive Neuro-Fuzzy logic for Surveillance Videos	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
171	461	2015-16	Dr. Zahid Ahmed Ansari Dept of Computer Science and Engineering P.A. College of Engineering, Mangalore	CISEE High Performance Computing Framework for Efficient Discovery of Useful Patterns from Voluminous Agricultural and Medial Data using Soft Computing	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
172	462	2015-16	Mohammed Afzal Dept of Physics SECAB's A.R.S. Inamdar Arts, Science and Commerce College for Women, Vijaypu	CISEE Cost Effective Production of Carbon Nanotubes and their use for Water Purification of Vijayapur and its Surroundings	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00

173	463	2015-16	Dr. T. Mahadevaiah Dept of Civil Engineering B.G.S. Institute of Technology, B.G. Nagara, Nagamangala	CISEE Advanced Laboratory for Drinking Water Quality Testing in Nagamangala and Surroundings	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
174	464	2015-16	Dr. M.V. Padmini Dept of Information Science and Engineering Vidya Vikas Institute of Engineering and Technology, Mysore	CISEE Qualitative Research Laboratory	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
175	465	2015-16	Dr. Nalini N Dept of Computer Science and Engineering Nitte Meenakshi Institute of Technology, Bangalor	CISEE Adaptive Fault Tolerance Frame Work for Cloud Computing Applications	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
176	466	2015-16	Dr. Narayan K Dept of Electronics and Communication Engineering Electronics Sai Vidya Institute of Technology, Bangalore	CISEE Design and Modelling of Micro-Opto-Electro- Mechanical Systems (MOEMS) based Bio-Sensors for Lab-on-a-Chip Applications	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
177	467	2015-16	Dr. Mallinath H Hugar Dept of Chemistry Sambuddha Arts, Science and Commerce Degree College, Aland, Kalaburgi Dist.	CISEE Advanced methods of Teaching and Learning System by using Latest and Developed Teaching Aids	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00

178	468	2015-16	Dr. Rekha K.R. Dept of Electronics and Communication Engineering SJB Institute of Technology, Bangalore	CISEE Centre for Excellence in - Design, Development and Evaluation of Hybrid ICE- Electric Four Wheeler vehicle with Solar Energy charging scheme	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
179	469	2015-16	Dr. H.K. Ramaraju Dept of Civil Engineering Sri Adichunchanagiri Shikshana Trust (SJBIT), Bangalore	CISEE Studies on Decentralized Treatment for Vrushabhavathi Valley Wastewater	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
180	470	2015-16	Dr. S.R. Manohara Dept of Physics Siddaganga Institute of Technology, Tumkur	CISEE Development of novel Graphene-polymer hybrid nanocomposites for efficient flame retardant and Electromagnetic Interference Shielding applications	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00

181	471	2015-16	Dr. Cyril Prasanna Raj P R & D Centre, Electronics and Communication Engineering M.S. Engineering College, Bangalore	Real Time Electronics Virtual Laboratory Integrated with E-Learning in Engineering & Science Education	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
182	472	2015-16	Dr. H.S. Lalitham Chemistry Siddaganga Institute of Technology, Tumkur	CISEE Molecular Docking, Biological Screening and Synthesis of Peptides and Peptidomimetics	30.00 (Each: Rs.10 Lakhs for 3 Years)	10.00	20.00
183	473	2015-16	Dr. V.L. Jayasimha Neonatology and Pediatrics S.S. Institute of Medical Sciences and Research Centre, Davangere	K-FIST(L2) Clinico Bacteriological Study of Neonatal Septicemia with special reference to sepsis markers, C-Reactive protein and Procalcitonin	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
184	474	2015-16	Dr. K. Natarajan Telecommunication Engineering M.S. Ramaiah Institute of Technology, Bangalore	K-FIST(L2) Setting up of Internet of Things (IoT) based Sensor Network Lab	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00

185	475	2015-16	Dr. S. Kumarappa Mechanical Engineering Bapuji Institute of Engineering and Technology, Davanger	K-FIST(L1) To study the thermal conductivity of thermal energy storage using different PCMs and to improve efficiency of solar thermal systems and wind energy systems	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
186	476	2015-16	Dr. Ramakrishna N Hegde Mechanical Engineering Srinivas Institute of Technology, Mangalore	K-FIST(L1) Experimental Investigations on Heat Transfer Enhancement in a Double Pipe Heat Exchanger using Metallic Inserts and Nanofluid	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
187	477	2015-16	Dr. Purushothama Chippar Mechanical Engineering St. Joseph Engineering College, Vamanjoor, Mangalore	K-FIST(L1) Experimental and Numerical Analysis for the Development of Metal Hydride based Hydrogen Storage System	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
188	478	2015-16	Dr. Keshava Joshi Chemical Engineering SDM College of Engineering & Technology, Dharwad	K-FIST(L1) Denitrification of Industrial/ Municipal Waste Water using Spouted Bed Bioreactor	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

189	479	2015-16	Dr. C.S. Ananda Kumar Nanotechnology Center for Post Graduate Studies, VTU,Muddenahalli	K-FIST(L1) Establishment of Nanobiotechnology Laboratory for Drug discovery programme in Cancer Therapy	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
190	480	2015-16	Dr. Aparna Shetty Physics Government College, Kalaburagi	K-FIST(L1) Upgrading and Strengthening of Physics Laboratory & Research Facilities	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
191	481	2015-16	Dr. Vijayalakshmi Akella Civil Engineering K.S. School of Engineering and Management, Bangalore	K-FIST(L1) Dynamic analysis and retrofitting of Heritage Buildings in South India	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
192	482	2015-16	Prof. Smitha M.B Architecture and Planning SJB School of Architecture and Planning, Bangalore	K-FIST(L1) Center for Architectural Technologies – Sustainable and Smart Materials	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
193	483	2015-16	Dr. Anirban Basu Computer Science and Engineering APS College of Engineering, Bangalore	K-FIST(L1) Developing Techniques for Green Software Engineering	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

194	484	2015-16	Dr. Meghana Kulkarni VLSI Design and Embedded Systems Center for PG Studies, VTU, Belagavi	K-FIST(L1) VTU-Chip Design Laboratory (VTU-CDL)	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
195	485	2015-16	Dr. Nagraj S. Patil Water and Land Management Center for P.G studies, VTU, Belagavi	K-FIST(L1) Upgradation of Geospatial Science Laboratory	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	20.00
196	486	2015-16	Dr. Srinivasa C.V Mechanical Engineering GM Institute of Technology, Davangere	K-FIST(L1) Establishment of Green Engineering Research Center and Research on Biobased Sandwich Composite Structures	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	20.00
197	487	2015-16	Prof. Shantala C.P Computer Science and Engineering Channabasaveshwara Institute of Technology, Gubbi, Tumkur	K-FIST(L1) Development of Long-Range and High-Speed Wireless LAN for the Transmission of Telemedicine from Disaster Areas	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	20.00
198	488	2015-16	M.A. Devani Chemical Engineering Bheemanna Khandre Institute of Technology, Bhalki	K-FIST(L1) A Solution for the Remediation of Hazardous Arsenic in Ground Water of Hyderabad-Karnataka Region	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	20.00

199	489	2015-16	Dr. H. Nagabhushana Physics Tumkur University, Tumkur	K-FIST(L1) Novel and Efficient Nanophosphors for Solid State Lighting and Radiation Monitoring	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	20.00
200	490	2015-16	Dr. V.D. Gundakalle Civil Engineering KLE Dr. M.S. Sheshgiri College of Engineering and Technology, Belgaum	K-FIST(L1) Self Compacting Concrete properties in hardened state with Manufactured sand	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	20.00
201	491	2015-16	Dr. Jasma Balasangameshwara Computer Science and Engineering Computer Science and Engineering	K-FIST(L1) Cloud Computing & Big Data Innovation Laboratory	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	20.00
202	492	2015-16	Dr. Rajeswari Electronics & Communication Engg. Acharya Institute of Technology,Bangalore	K-FIST(L1) Development of Automatic Weed Detection and Herbicide Spraying Control in Horticulture Plantation	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	20.00

203	493	2015-16	Dr. Ramakrishnappa T Chemistry Dayananda Sagar Academy of Technology and Management, Bangalore	K-FIST(L1) Photocatalytic hydrogen generation and Photocatalytic degradation of toxic dyes using nano metal oxides and doped metal oxides synthesized by novel and eco-friendly methods	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	20.00
204	494	2015-16	Dr. T.K. Gunashekar Dr. T.K. Gunashekar Sai Vidya Institute of Technology, Bangalore	K-FIST(L1) Lab based investigation of Skid Resistance Characteristics (Pavement surface) under high speeds	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	20.00
205	520	2015-16	Dr. Cecil Ruben Ross General Medicine St. John's Graduate Studies VTU, Muddenahalli (St. John Research Institution)	K-FIST(L2) To enrich Chronic Myeloid Leukemia stem cells in vitro and understand their drug sensitivity	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
206	521	2015-16	Dr. G.S. Venkatesh Computer Aided Engineering Centre for post Graduate Studies, VTU, Muddenahalli	K-FIST(L2) Light Weight Material Manufacturing and Testing Facility	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00

207	522	2015-16	Dr.Kushal Das Physiology BLDE University Shri B.M. Patil Medical College Bijapur	K-FIST(L2) Effect of 1-ascorbic acid and calcium channel blocker on hypoxia exposed possible alteration of cell signaling pathways in respiratory system of male rats with or without heavy metal lead exposure	40.00 (Each: Rs.20 Lakhs for 2 Years)	20.00	20.00
208	523	2015-16	Dr.Grirish Mechanical Engineering Alliance Engineering College Bangalore	K-FIST(L1) Effect of Severe Plastic Deformatin on Aluminium Alloy 6061 processed by constrained Groove pressing	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
209	524	2015-16	Dr. M.C. Padma Computer Science and Engieneering PES Engineering College Mandya	K-FIST(L1) Establishing the Internet of things (IoT) Laboratory for Post graduate and Research programs	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
210	525	2015-16	Dr. Rahul Riberio Mechanical Engineering Alliance Engineering College Bangalore	K-FIST(L1) Determination of the Mechancial properties of novel materials for Cartilage Replacement	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00

211	526	2015-16	Dr.S.B. Kiwade Mechanical Engineering Basavakalayna College of Engineering Basavakalaya	K-FIST(L1) Establishment of I.C. Engine and Energy Conversion Laboratory	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00
212	527	2015-16	Dr. N. Lakshminarasimaha Civil Engineering East Point College Bangalore	K-FIST(L1) Infrastructure Development for Environmental and Water resource Engineering Laboratory	20.00 (Each: Rs.10 Lakhs for 2 Years)	10.00	10.00